ggbbobuoooob oogoboob

[0] DOOO0O0OOO0O0OO0O-000r+d4dr00000000OOOOOdrO0O0O
OooooooooedibOibUOd+do 0D ODODOODODODODODODOODO
OobboOoooooobobobderobd 000000 DbO0OOoOoOobobooboon
dS=rdrdd0000000OCO0ODO

[1]
()00000000000000000

() 000 (b)00D0O00000000 (000000000000
() 00000000000

(2)000000000000000

2]

() 00000000000000000000000000000000000
000000000000000000000

(2)000000000
(3)0000000000000000000000000 (2)000000000
0000000000000000000000000000000000000
00000000000000000000

000000 6400(km] 000000 6.0 x 10%[kg]0

[3]

() 00000000000000000000000000000000000
00000000000000000000000000
(2)00000000000000000000000000000000000
0000000000000000000000

000000 2x10¥kg 000000 D00 1.5x 108km/0 00000 OO0
0000000 1500

[4] 000O0O00OO0O0O0OC0OO0OO0O000000000000MOO000 R,OOOO
000000000000000000000000r<R, 00000000 m
0000000000000000000000000000000000000
0ooo

() 0000000 ,-0000000000

(2)00000000000

[5) DO0OD0OOO0DO0OOOOODOO0OOO0OOOOOOOOOOOOOOOOO
gboboboboobooboon



